Revision Progress Test 2 – Working Capital Management
Question 1

MAT is a manufacturer of computer components in a rapidly growing niche market. It is a private entity owned and managed by a small group of people who started the business 10 years ago. Although relatively small, it sells its products world-wide. Customers are invoiced in sterling, although this policy is being reviewed. Raw materials are purchased largely in the UK although some are sourced from overseas and paid for in foreign currencies, typically US$.
As the newly-appointed Financial Manager, you are reviewing MAT’s financial records to identify any immediate or longer-term areas of risk that require immediate attention. In particular, the entity’s forecast appears to be uncomfortably close to its unsecured overdraft limit of £450,000.
Extracts from last year’s results and the forecast for the next financial year are as follows:
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Required:

Prepare a report to the Finance Director of MAT advising on whether the entity could be classified as “overtrading” and recommending financial strategies that could be used to address the situation.
Your advice and recommendations should be based on analysis of the forecast financial position, making whatever assumptions are necessary, and should include brief reference to any additional information that would be useful to MAT at this time.

(Up to 14 marks are available for calculations)


(25 marks)

Question 2
GSD Ltd is a private UK company owned by the two families that started the business 
in 2000. The company produces organic food products for distribution in the domestic UK market using food products from UK farms. The company is experiencing a period of rapid growth, with revenue expected to rise by 15% in each of the following five years.
The company is hoping to retain a profit margin (profit before interest and taxes divided by revenue) of 30% throughout the next five years. The ratio of working capital to revenue is expected to remain constant, where working capital is inventories plus trade receivables less trade payables.
Interest is paid on the overdraft and bank loan at 6% per annum. Interest on the bank loan and overdraft is calculated on the balance outstanding at the beginning of the year. Corporation tax is paid one year in arrears at a rate of 30%, with a 100% tax allowance for capital expenditure in the year in which it is incurred. In arriving at operating profit, depreciation is charged at 25% on a reducing balance basis based on year-end balances.
Extracts from the management accounts of GSD Ltd on 31 December 2010 are as follows:
Statement of financial position as at 31 December 2010
	
	£m

	Property, plant and equipment
	15

	Working capital
	9

	
	24

	
	

	Share capital (50p ordinary)
	10

	Retained earnings
	4

	Long-term borrowings (bank loan)
	8

	Short-term borrowings (overdraft)
	1

	Current tax payable
	1

	
	24


Income statement for the year ended 31 December 2010
	
	£m

	Revenue
	45.0

	Profit before interest and taxes
	13.5

	Dividend paid in 2010
	50p a share


Capital expenditure plans are for expenditure on property, plant and equipment of £10m in 2011, £10m in 2012 and £7m in each of years 2013 to 2015. No disposals of property, plant and equipment are expected in this period.
Shareholders expect a year-on-year increase in dividends of 5%. Any funds deficit in the year will be funded by overdraft and any surplus funds used to reduce the overdraft. However, with the increased demands on the funds of the business to finance growth, the directors are concerned that they may exceed the overdraft limit of £1.5m. They may, therefore, need to negotiate an increase in the bank loan, although the bank has indicated that it would not accept gearing higher than 70% based on book values where gearing is defined as long and short term borrowings (including overdraft) divided by equity. The shareholders have indicated that they do not wish to inject any additional capital into the business.
Required:

(a)
Construct the statement of financial position, income statement and a cash flow analysis of the company for each of the years 2011 and 2012 and advise the company on the extent of any additional funding requirement in that period. In your answer, round figures to the nearest £100,000.
(16 marks)

(b)
Discuss the interrelationships between financing, investment and dividend strategies with reference to the liquidity requirements of GSD Ltd. Include in your discussion how each could be adapted to meet the company’s liquidity requirements in the years 2011 and 2012 and provide a recommendation.


(9 marks)



(Total 25 marks)

Question 3

BG manufactures furniture for major retailers and independent customers in country D, which has the euro (€) as its currency. Until this year it sold its products only in its own country.

BG finances major changes in its investment in working capital by medium-term loans, which often result in short-term cash surpluses. Short-term cash deficits are financed by overdraft or delayed payments to creditors, usually by agreement.

Assume today is 1 January 2011.

Selected forecast financial outcomes (country D only) are as follows:

	
	12 months ended 30 September 2011

	
	€000

	Revenue
	2,585

	Cost of good sold
	1,551

	Purchases
	1,034


	
	As at 30 September 2011
	

	
	€000
	

	Accounts receivable
	350
	(54.9 days)

	Accounts payable
	205
	(72.4 days)

	Inventory
	425
	


(Raw material = 45%, WIP = 22%, Finished goods = 33%)

Operating cycle = 105 days

Terms of trade of 90% of sales in country D are 30 days credit. The remaining 10% is paid by cash, debit or credit card. Card payments are considered the equivalent of cash. Sales are spread roughly evenly throughout the year. This pattern is not expected to change.

New customers
On 1 October 2010, BG entered into contracts with customers in country E, whose currency is the E$. Forecast figures for the year ended 30 September 2011 will be affected as follows:

· Sales to country E are likely to be affected by economic and political factors. There is a 60% probability sales will be E$750,000 and a 40% probability they will be E$950,000. All sales will be on credit, invoiced in E$, and the accounts receivable of these customers is expected to be 20% of revenue on average. Sales are spread evenly throughout the year.

· The exchange rate E$ to euro is expected to be E$1.473/€ through the year.

Total inventory figures are expected to be as follows to accommodate sales in country E:

	
	12 months ended 30 September 2011

	
	€000

	Raw material
	245

	WIP
	120

	Finished goods
	208


Required:

(a)
(i)
Calculate the revised operating cycle for the year ended 30 September 2011 to incorporate sales made to customers in country E. Assume a full year’s trading and sales spread evenly throughout the year.

(ii)
Explain, briefly, the main causes of the increase in the operating cycle over the forecast.



(12 marks)

(b)
Advise BG whether a profit or cost centre structure would be more appropriate for its treasury department.
(6 marks)

(c)
Discuss the advantages and disadvantages of financing net current operating assets with medium-term loans compared with short-term financing, in general and as appropriate to BG. Include in your discussion a diagrammatic explanation of aggressive and conservative working capital financing policies.
(7 marks)


(Total 25 marks)
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